
FUNCIONES 1.3 
 

1. Sea 𝑓 𝑥 = 𝑥2 + 1 y 𝑔 𝑥 =
1

𝑥
Se pide: 

 

𝑓 + 𝑔;  𝑓 · 𝑔;  
𝑓

𝑔
;  𝑔 ∘ 𝑓;  𝑓 ∘ 𝑔;  𝑓 ∘ 𝑓;  𝑔 ∘ 𝑔;  𝑓−1;  𝑔−1 

 
 

2. Dadas las funciones 𝑓 𝑥 =
1

𝑥+2
 y 𝑔 𝑥 =  𝑥Se pide: 

 

𝑓 + 𝑔;  𝑓 · 𝑔;  
𝑓

𝑔
;  𝑔 ∘ 𝑓;  𝑓 ∘ 𝑔;  𝑓 ∘ 𝑓;  𝑔 ∘ 𝑔;  𝑓−1;  𝑔−1 

 
 

3. Dadas las funciones 𝑓 𝑥 =
1

3𝑥−6
 y  𝑔 𝑥 = 2 +  𝑥Se pide: 

 

𝑓 + 𝑔;  𝑓 · 𝑔;  
𝑓

𝑔
;  𝑔 ∘ 𝑓;  𝑓 ∘ 𝑔;  𝑓 ∘ 𝑓;  𝑔 ∘ 𝑔;  𝑓−1;  𝑔−1 

 
 

4. Dadas las funciones 𝑓 𝑥 =  2𝑥 − 4 y 𝑔 𝑥 =
3

𝑥2+1
 Se pide: 

 

𝑓 + 𝑔;  𝑓 · 𝑔;  
𝑓

𝑔
;  𝑔 ∘ 𝑓;  𝑓 ∘ 𝑔;  𝑓 ∘ 𝑓;  𝑔 ∘ 𝑔;  𝑓−1;  𝑔−1 

 

5. Dadas las funciones 𝑓 𝑥 =
𝑥

2−𝑥
 y 𝑔 𝑥 = 𝑥2 + 2 Se pide: 

 

𝑓 + 𝑔;  𝑓 · 𝑔;  
𝑓

𝑔
;  𝑔 ∘ 𝑓;  𝑓 ∘ 𝑔;  𝑓 ∘ 𝑓;  𝑔 ∘ 𝑔;  𝑓−1;  𝑔−1 

 
 

6. Dibuja la gráfica de las siguientes funciones: 
 

 a) 𝑓 𝑥 =  
𝑥2  𝑠𝑖𝑥 ⩽ 1

2𝑥−1

3
 𝑠𝑖𝑥 > 1

   b) 𝑔 𝑥 =  𝑥
2 − 2𝑥 𝑠𝑖𝑥 ⩽ 1

3 𝑠𝑖𝑥 > 1
  

 
 

 c) ℎ 𝑥 =  
−𝑥2 − 4𝑥 − 2 𝑠𝑖𝑥 ⩽ 1

𝑥2  𝑠𝑖𝑥 > 1
  d) 𝑦 =  3𝑥 − 6  

 
 

 e) 𝑦 =  𝑥2 + 2𝑥 − 2  
 
  


